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Sub-Section Number: 1
Sub-Section Id: 335472178
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354726331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is India’s first satellite called? | 9RT & WIT JUUZ & FAT A7 57
Correct : 1 Wrong : 0

Options :

#® Mangalyan | #TeT_
® apgni | ey

¢ Aryabhatta | sfMg
# Chanakya | =g

ol S

Question Number : 2 Question Id : 3354726332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state Government has instituted the Tansen Samman? | T T @R o T GEAT &1 TUTIAT 6 37
Correct : 1 Wrong : 0

Options :

1. # Rajasthan | THEIH

2. ¥ Maharashtra | HgRTE

3. # Tamil Nadu | I8

4. ¥ Madhya Pradesh | Azauea

Question Number : 3 Question Id : 3354726333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who discovered the phantorn-limb syndrome? | $ea-Ta Hgm & @ fraw &7
Correct : 1 Wrong : 0

Options :

1. ¥ V5. Ramachandran | a1.0q A=
2. ® G.N. Ramachandran | S0, W=
#® v 5 Rao | AuETE

4 # A5 Paintal | Tgadea

w

Question Number : 4 Question Id : 3354726334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Children’s Film Society that produces feature films and short films for children was formed in_____. | =t @

T e, St gt & oy e et 8k &g Thedt w7 Fmior et g, CRIET AR

Correct: 1 Wrong : 0

Options :

1. ¥ 1953
2. ¥ 1955
3. % 1961
4. ®¥ 1966

Question Number : 5 Question Id : 3354726335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The All India Khilafat Conference was held in Novernber 1919. Where was it held? | S YR Eeha arie
FeaY 1919 # ST FoIT 9m g dgl Foi am?

Options :
1. ® Aligarh | s
2 ® Lucknow | fE4S

3. ®¥ Lahore | AR

4. ¢ Delhi | Teweit

Question Number : 6 Question Id : 3354726336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Civil Services Day’ is celebratedon _____________ of every year. | ‘Fofda dar feae, wqdwed _____________ Cal
HATIT ATET 21
Correct : 1 Wrong : 0

Options :

1. ¢ 21st April | 21 3m0&
2. ¥ 13th April | 13 3fid
3. ® 10th April | 10 a0&
4. ® 11th April { 11 af&

Question Number : 7 Question Id : 3354726337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Elections to the localagovernment bodies are made mandatory by which amendment? | o GaTed gRT &I
TR el @ AT @1 arfeard @ [T e 87

Correct : 1 Wrong : 0

Options :
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1. ¥ 72nd | 724
2. ¥ 73rd } 738
3. ® g4th | 644
4. ¥ g3rd } 633

Question Number : 8 Question Id : 3354726338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

During which Gowvernor General’s rule, was the Indian Civil Service (ICS), introduced? | T TTa=T S=a & I &
R, ARd 17 e dar (sngaiue), & & me ot

Correct: 1 Wrong : 0

Options :

1. # Lord Dalhousie | @18 Sag il

2. ® Lord Rippon | @8 foug

3. # Lord Wellesly | @12 daieel

4. ¢ Lord Cornwallis | @18 @i-Hdiiere

Question Number : 9 Question Id : 3354726339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who presented the first Union Budget of independent India? | Tadd RT & UZAT hg1d e (e Teqd [aar?
Correct : 1 Wrong : 0

Options :

1. ¥ R K. Shanmukham Chetty | 3T %. Sg@q a5
2. #® John Mathai | ST AaTE

3. # CD. Deshmukh | &t 21 ag@E
4. ® Morarji Desai | AR AT

Question Number : 10 Question Id : 3354726340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a direct tax in India? | FaAfeEe & § @19 a1 ara § veay &2 981 87
Correct: 1 Wrong : 0

Options :

¢ Goods and Services Tax | T Ud daT #C
#® Income Tax | STIHT
® Gift Tax | IUER T

® Wealth Tax | Ui #¢

ol L I

Question Number : 11 Question Id : 3354726341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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'Madhubani', a style of folk paintings, is popular in which one of the following states in India? | @iw ==l & UF
Aet, meger wRT § T # & Tor e T § AR 3
Correct: 1 Wrong : 0

Options :

1. ¥ Madhya Pradesh | AT Wy
2. ® Uttar Pradesh | 39 0eH

3. ¢ Bihar | T§R

4. ® West Bengal | g ama

Question Number : 12 Question Id : 3354726342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

%omwas the first Chief Justice of the Madhya Pradesh High Court? | §ed USH 35 ~IMIT6 & Ugel §& ~aTaTeitar

Correct : 1 Wrong : 0

Options :

1. # Justice G.P. Bhut | ~Imgfd Sit.4t.9e

2. ® Justice P.V. Dixit | ~mfd dt @t ifga

3. # Justice A M. Khanwilkar | ~ITa¥id U UF @ii-deat
4. ¥ Justice M. Hidayatullah | =7 UH RErRgearg

Question Number : 13 Question Id : 3354726343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state is the largest producer of tobacco in India? | 9RT ¥ qaTg &7 T g7 IcUTeH o DI 57
Correct : 1 Wrong : 0

Options :

1. ® Gujarat | ToRTT
2 ¢ andhra Pradesh | 37 uedr

3. # Tamil Nadu | aag

4. ¥ Madhya Pradesh | Aea nas

Question Number : 14 Question Id : 3354726344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
How many caves are there in Udaygiri in Vidisha? | fafear & Igamic # -t 1o 82

Options :
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1. ¥ 20
2 -8 38
3. %8 28

4 ® 12

Question Number : 15 Question Id : 3354726345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Narme the tiger reserve of Seoni District? | T&eHT et & 1R Rl @1 717 aq1en?
Correct: 1 Wrong : 0

Options :

1. ¥ Kanha | ®TwgT

2. ® Panna | 4T

3. ¥ Bandhavgarh | aTuEnTg
4. ¢ Pench | U

Question Number : 16 Question Id : 3354726346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Vijayraghavgarh Fort isin _______. | TerereRTereTs e _______ 7
Correct : 1 Wrong : 0

Options :

1. ¥ Katni | @edT
2. ® Satna | 94T

3. # Jabalpur | JEeq
4. ® Rewa | Tar

Question Number : 17 Question Id : 3354726347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is Veerangna Durgawati Sanctuary located? | g1 giad | sHaRuS @yl 2T 37
Correct: 1 Wrong : 0

Options :

1. #® Sagar | TR

2. # Sehore | lﬂ'@’(
3. ¢ Damoh | AR
4. ¥ Dhanakpur | g9HR

Question Number : 18 Question Id : 3354726348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The building famOus as Kin §_Edward Museum has a library known as the _____. | TIT IS U o €7 H Uieg

THRT U EaaTald & Al _____ & ST AT 31
Correct : 1 Wrong : 0

Options :

1. ® Regional Education Institute Library | &3 fagm e qea@aa
2. ¥ Central Library | $gi [eaead

3. ® British Library | By geaamea

4. # Hindi Granth Library | &1 77 qea@ag

Question Number : 19 Question Id : 3354726349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

General Maths and General Aptitude
Correct : 1 Wrong : 0

Where is the ammunition factory in Bhind District located? | Tg Wt # MaT-aTes #RE™T #57 7F 27

Options :

1. # Gohad | Mg

2. ¥ Malanpur | BTG
3. ® Ater | 3RT

4. #® Lahar | @57

Question Number : 20 Question Id : 3354726350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

;Iow many countries participated in the 2016 Kabaddi World Cup? | 2016 & Fag! & fdqa &0 ¥ fora- ot &t Tt

Correct : 1 Wrong :0
Options :
® 10

v 12
® 14

-

Section Id : 335472179 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1

Number of Questions to be attempted: 1
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Section Marks: 1
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472179
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A black and white photograph is 60% black and 40% white, respectively. If the photograph is enlarged 2 times,
then the white percentage is: | U HTaT 3 Hhg FIATT FHS: 60% FTAT TAT 40% a%—q*%l i FTTRIF @1 2 AT uikatdd
T AET R, @t agrc: PIG R

Correct : 1 Wrong : 0

Options :

1. ¥ 80%
2 8 50%
3. ¥ 50%
4. ¢ 40%

Question Number : 22 Question Id : 3354726352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

IfA. B. C. D are distinct numbers from {1, 2. 3. 4} such that %—% = 1. then the value of BD

is:/afe {1,234} & A:B:C:Dsﬁmm-mmﬁgﬁ?g—%=1:ﬂ BD

HT AT

Question Number : 23 Question Id : 3354726353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 2% =128, then what is 2% 2 /37fg 2x =128, dT 2= 41 1aM?
Correct: 1 Wrong : 0

Options :
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N
&
§

w
#

Question Number : 24 Question Id : 3354726354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a-b=7, ab=30, then a+b=7 | AT a-b=7, ab=30, Tra+b="7
Correct : 1 Wrong : 0

Options :

w N

$ 8 B
oW e
=~ U
o

L
&
o
w

Question Number : 25 Question Id : 3354726355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Find the average. | 3ad Id #4

15, 38, 13, 56, 23
Options :
1. % 27
2. % 28
3. ¥ 29

4. ¥ 30

Question Number : 26 Question Id : 3354726356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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ABCDis a square of side 6 cm. If thelines CM and CN divide the square areas into three equal
parts, then the length of CMin cmis___./ABCD U @3t g foaehl &faim 6 41 81 afe

CM d2r CN Y@v a3t &5 & die @\ e & fasnferg sy §1 CM &Y oS
QAT & 2l

B C

A \ D

Options :

YNEE]
o

3333\/'5

4 8 g

Question Number : 27 Question Id : 3354726357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The difference between 2 parallel sides of a trapezium 15 8 1m. The perpendicular distance between them i_S 24

m. If the area of the trapezium is 312 sq.m, then the longer of the parallel sides is___. | U GHetd @I 2 FHEY

ﬂa?ﬁmﬁaﬂ ercr(g HeT §1 39 A1 & ity & Fred gU 24 HIeT 81 Al GHere P §A6 312 a1 #1eT g, 1 HiaT gl # g
AT _____

Correct : 1 Wrong : 0

Options :

>

1. %89
2. ¢ 17
g% 18
4. % 10

Question Number : 28 Question Id : 3354726358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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If 2% + x2 — 3x — 3 is divided by 2x-1. then the remainderis: / If¢ 2x* +x? —3x -3 &I 2x-1
¥ fenfaa far smar 8, a9 9w &

Options :
1. ¥ x+3
2. % 15
3¢ -4

o

-

Question Number : 29 Question Id : 3354726359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A train 200 m long passes a pole in 10 sec. The same train at the same speed will cross a platform 500m lon
in how many seconds? | U& 200 HIeT del ST U @9 @1 10 990 # UR FXd T 31 a5l (enTiel 36T Mid & 500 Hie
THATHTH @1 o S # UR Heir?

Correct : 1 Wrong : 0

Options :

1. ¥ 80 sec | 60 v
2. ® 45 sec | 45 99U
3. ¢ 35 sec | 35 davE
4. ® 25 sec | 25 QAU

Question Number : 30 Question Id : 3354726360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the SP of an article is 1.5 times the CP, then find the profit %. | It U@ a&g ®71 fohrd Ged I9% %9 God &1 1.5 A1
2, T AT % 1T B

Correct : 1 Wrong : 0

Options :

#® 25% profit | 25% @19
¥ 50% profit | S50% @19
#® 150% profit | 150% &9
® 100% profit | 100% &9

ol L

Question Number : 31 Question Id : 3354726361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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24 men can complete a work in 40 days. The nurmber of men required to complete the work in 30 daysis____.

| 24 q&y U w1 @1 40 T § qul @ gewd 1 30 Tt # @l 1 quf @ & Tog smaeae qeut i gear ___ R

Correct : 1 Wrong : 0

Options :

1. ¥ 28
2. ¢ 32
3. % 36
4. % 40

Question Number : 32 Question Id : 3354726362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& speed of 36 km per hour is the same as: [ 36 Tt Uid o &1 T 30% THAH &
Correct : 1 Wrong : 0

Options :

1. ¥ 10mjs [ 10 " dFs
2. % 12mjs | 12 WkeY/9%s
3. % 1296 m/s | 129.6 Hey/d%s
4. ¥ 3600 m|s | 3600 HiZY|qFs

Question Number : 33 Question Id : 3354726363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The present ages of three persons are in proportions 2:3:4. Five years ago, the sum of their ages was 39. Find

their present ages (in years)? | @19 il &l qdA= T 2 : 3 4 F AT § 81 Uil a4 Gal, IkT 31 FT ANMTHA 39 oM
I I AT T () H ST w " 2 K

Options :

1. ¥ 12 years, 18 years, and 24 vears | 12 @4, 18 a4 ug 24 a9
2. ® g years, 9 years, and 12 years | 6 74, 9 ¥ ug 12 a§

3. ® 10 years, 15 years, and 20 vears | 10 @4, 15 ad gg 20 a9
4. #® None of the above | JURw H & HIE T8l

Question Number : 34 Question Id : 3354726364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Leena is facing North. If she turns through an angle of 180 degrees in the clockwise direction, then she will be
g?{%inéga_ﬁf T IO TSI GG el @l aﬁza‘ragf&rrrm#%mﬁ‘ 180 B F PR GS AT 8, daal ____ &l IR gF

Correct: 1 Wrong : 0

Options :
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1. # North | I

2. ¢ South | ZigT

3. % East jqd

4. ® West | W

Question Number : 35 Question Id : 3354726365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a polynornial? | @@ # & @19 TF agug 951 57
Correct: 1 Wrong : 0

Options :

% 17X -2x +4x+3

X +x
3 # X+2x+l

2 '1 2
4@ XY

Question Number : 36 Question Id : 3354726366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

B3 . . E—3
=" thenthevalueof x*-8x+ 1lis fafe x =12 +~€ %, ar x2-8x+ 1T

V5+3 VS+y

AT gl

Ifx=

Options :

2 -8 3
3.¥0

4 ® 32

Question Number : 37 Question Id : 3354726367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The perfect square integer just succeeding 9584 is: | 9584 ¥ Slar argad ! ol ot QUi o
Correct : 1 Wrong : 0

Options :

1. ¥ 9600
2. ¥ 9604
3. ¥ 9625
4. ® 9649
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Question Number : 38 Question Id : 3354726368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 7x2 + 56x + 90 = 0. then (x +4)%is equal to: / TTE 7x2 +356x+90=0 &, ar (x+4)? 5T*H

SR g
Correct : 1 Wrong : 0

Options :

1. v 2247
2 8¢5

3. 8 1247
4 8 2247

Question Number : 39 Question Id : 3354726369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A can do a piece of work in 20 days and E in 30 days. In how many days the work will be completed if & and B
mrk%ether?jAWmﬁmﬁ?‘fﬁmBSﬁBO H quf 9 GeaT g1 Il A SR B off ST Ay @ avd B, ar @
Tepare et & ot g1 stmgmm?

Correct : 1 Wrong : 0

Options :

1. % 13days | 13
2. % 14days [ 14 e
3. % 1Sdays | 15 A
4 ¥ 12days [ 12 e

Question Number : 40 Question Id : 3354726370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The edges of three cubes made of metal are 3cm, 4cmand S cm. They are melted and formed in to a single
cube. Find the edge of the cube. | o1g & Wi &9 o=t & frA 3 |, 4 9HY o S |t 81 378 TooaT ¢ garer o &7 famior
oI SITaT 31 B @ %‘—n’n T F

Correct : 1 Wrong : 0

Options :

General Hindi
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1. ¥ 9cm 9 94T
2 ® gcm | 8 9T
3. ® 7cm j 7 |Qur
4 ¢ 6cm | 6 dHt

Section Id : 335472180

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472180
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HETHIOT 22 gl & -
Correct: 1 Wrong : 0

Options :

R

—

2 R g
3 8 g

R
o

s

Question Number : 42 Question Id : 3354726372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AT AT o/ T TN Y Y, I wRd g -

Correct: 1 Wrong : 0

Options :

4. ® gipidew AmT

S

w
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Question Number : 43 Question Id : 3354726373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

aleTd AT G BT RG-Sl BEemal & -

Correct : 1 Wrong : 0

Options :

1. ¢ s

=

3. ® gy
4. % TR

Question Number : 44 Question Id : 3354726374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
4 e By -
Options :

1. ¢ arefig

2. ® i

4. ® i

Question Number : 45 Question Id : 3354726375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

s ST B -
Correct : 1 Wrong : 0

Options :

R 7

N

L |
3.7

4 R 3

Question Number : 46 Question Id : 3354726376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“gAT W UATA! g § | @I 91 87
Correct: 1 Wrong : 0

Options :

i

SUBNY I

-
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Question Number : 47 Question Id : 3354726377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Tt =T g1 g1 @ard 1 o o U geg Mg A A T AT g

Correct : 1 Wrong : 0

Options :

Question Number : 48 Question Id : 3354726378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

|l FTar e g A A Emarg?

Correct : 1 Wrong : 0

Options :

1. ¥ g+
2 ® gu+fEm
3. ® de+Ra
4 ¢ g+

Question Number : 49 Question Id : 3354726379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T FT A Seg Mg H A BT AT 57
Options :

1. ¥ J4r
2 ® qrE=
7 aTR

(W1

4. % R

Question Number : 50 Question Id : 3354726380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘S IUAT & T e, G H F FIT 27

Correct : 1 Wrong : 0

Options :

1, w u:k's—“q
2 ¢ 3T
3 ¥ smAe

4 % @
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Question Number : 51 Question Id : 3354726381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TUT Seg | A9 # F F9 97 9uTe 37
Correct : 1 Wrong : 0

Options :

1. ¥ goqey guE
2. ® GyauE

3. ¢ aregdaTE |uTE
4. ¥ qgefity gurg

Question Number : 52 Question Id : 3354726382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e § atedT geTa} @ arf oy § & @i a1 87

Correct : 1 Wrong : 0

Options :

1. ® e # H18 =i demT
2. ¥ gg I1g &1
® et ® e

AW

Question Number : 53 Question Id : 3354726383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘ST H L ST FFH A BT ATE?

Correct : 1 Wrong : 0

Options :

Sl
x <
A

&

S W
¢
e

Question Number : 54 Question Id : 3354726384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Tee ford= W & §id 27
Options :

1, W
2

M

= N W
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Question Number : 55 Question Id : 3354726385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

qid Wit siie Wi Fgd I3 a8
H @I AT SR gl Tol ey gig?

Correct : 1 Wrong : 0

Options :

1. ® st sEw
2. ® JunT SEHT

3. ' ST STAHR
4. ® IYT AAFR

Question Number : 56 Question Id : 3354726386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

JugH e Seg giag - gar

Correct : 1 Wrong : 0

Options :

Question Number : 57 Question Id : 3354726387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“TvhEw g & Ael ATd-TdTgg @I S50

Correct : 1 Wrong : 0

Options :

1. ¢ 1 + Fed
2. ] ﬁ'ﬂ'"— ﬂﬁﬁiﬁﬁ
3 ® g + dw
4 ¥ A9 + waw

Question Number : S8 Question Id : 3354726388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
ZH & T TdweT o U STd 1 Seg-gT S1d & -

Options :
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1. Y TR S
2. ® gag-am
3. ¥ DIR-TW

4. ® @RI
Question Number : 59 Question Id : 3354726389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g - wrEty RReg ¥ -

Correct: 1 Wrong : 0

Options :

1. #® d+t|
2 ¥+
3 8 P+
4. ® dr49

Question Number : 60 Question Id : 3354726390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TsiteT # v g -

Correct : 1 Wrong : 0

Rural Economy and Fanchayati Raj
Options :

Section Id : 335472181

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472181
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
As per the Expert Group (Rangarajan panel), the estimated population (All-India) below the poverty line in

2011—t§lms _______ | TS T (TR U9 % SgaR, 2011-12 8 et @ & S srganiag sHaedr

Options :

1. #¥ 309 million | 309 Mg
2. ¥ 363 million | 363 ffea=
3. ® 264 million | 264 WEaT

4. ¥ 248 million | 248 W@

Question Number : 62 Question Id : 3354726392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT an objective of promoting usage of Neem Coated Urea by Indian farmers? |
ﬂﬂ?ﬁuﬁmﬁm:ﬁwﬁ%ﬁq&mﬁ aﬁam?#mﬁﬂ%ﬁ?ﬁ T UF 59T TRl 87

Correct : 1 Wrong : 0

Options :

1. #¥ Enhance availability of Nitrogen to crops | Bl # A5 91 #1 IUALAT a7
2. ® Slow down release of fertilizer | Jea AT FCA HT Tia BT AT FEAT

3. ¥ Promote Urea manufacturing companies | JRAT IqUTGH SUi=al PI ag1aT g7
4. ¥ Recommend appropriate dosage of nutrients | Tl & G5T JULNT H TATg AT

Question Number : 63 Question Id : 3354726393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is directly responsible for implementation of Rajiv Gandhi Watershed Management Mission at District

level? | T@T &€ W Tite el afeedis Ave THae & Torameaa & To0 medyy &0 & #19 Joore ™t §1aT 27

Correct: 1 Wrong : 0

Options :

1. #® Chairperson of Zilla Panchayat | T vamaa &7 sredy

2. ¥ CEO of Zilla Panchayat | T vamaa &7 @3 SR siremmr
3. ® District Collector | Fterefar

4. ® watershed Management Officer | aTeTdE na= arfdemer

Question Number : 64 Question Id : 3354726394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who among the following CANNOT becorme a mermber of any of the Panchayats? | Fgieia@d & & @1, fedt ot
eI & 98 51 - aaddT 57

Correct: 1 Wrong : 0

Options :

1. ¥ Member of Parliament | 9 @€

2. ¥ Member of Legislative Assembly | Taem= 4T &1 @5eg

3. ¥ Member of Legislative Council | Taen uftwg 1 agqg

4. # panchayat’s elected representative | WA &7 Haiizd Wid f=Ter

Question Number : 65 Question Id : 3354726395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the estimated total number of 'Savings-Linked' Self Help Groups (SHG) in Madhya Pradesh as of 31
March 20157 | 31 AR 2015 T& Aed WA # 'dad-Teiae’ Ta-TgrIaT qqg (TaUDn) HT SIgATHT Gel G127 37

Correct : 1 Wrong : 0

Options :

1. # Less than 1 lakh | U% @G & &H
2. ¢ 2-3lakhs | 2-3 @

3. ¥ 4-Slakhs | 4-5 @

4. ® More than 5 lakhs | 5 @1 & 3Te®

Question Number : 66 Question Id : 3354726396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Of the total area under certified organic farming in India, the share of Madhya Pradesh alone was

approximately _____ percentage in 2010. | YR H TG SAfcd WdT & T5d Fol §A6 H, Sfhel He UG F7 gear 2010
H AT BIGEGE

Options :

1. ¥ 55%
2. ¢ 40%
3. % 80%
4. ¥ 30%

Question Number : 67 Question Id : 3354726397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

SISO UT T4 e 1
Correct: 1 Wrong : 0

Swarna Jayanthi Gram Swa%]rozgar Yojana functioned on the concept of ______. { Tt AT T TR T

Options :
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1. #¥ Individual lending | aRETE F0T
2. ® 100% subsidy | 100% 3rga=

3. ¥ Group lending | 99z T

4. # Nil borrowing | S+ IYRT

Question Number : 68 Question Id : 3354726398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many districts of the country are covered under MNREGS as of 20177 | 2017 J@ W4T & 3idTiq, 39 & fora=
et @ae Topg My 37

Correct: 1 Wrong : 0

Options :

1. ¥ 685
2. 8 650
3. % 830
4. ® 00

Question Number : 69 Question Id : 3354726399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Deen Dayal Antyodaya Yojana launched on September 25, 2014 is related to : | 25 T@deR, 2014 ®1 & g &9
TATA &iT AT 9 & FataT &
Correct: 1 Wrong : 0

Options :

1. ¥ Wormen Empowerment | AigeT Gite 0T

2. ¥ Enhancement of livelihood opportunities through Skill Development in rural and urban areas | TTHIT 3T
ﬂgﬁaﬁﬂaﬁmﬁwm%mw@aﬁ%m% Sl H g

3. ® Poverty Alleviation among SCST | Sigiad Sid Ual S S=id & a1 &l Tlell S
4. ® Food Security to aged persons in villages | Tial # g caiha &1 @rer gegm

Question Number : 70 Question Id : 3354726400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The Rural Local Self-Government Committee constituted by Government of Madhya Pradesh in 1957 was
chaired by __________. { 1957 ® W ST AT ZRT s TTHIN ST T8 aidia & sreay

Options :

1. ¢ Kashi Prasad Pandey | @<t namg w2
2. ¥ MP Dubey | gRU.gd

3. # Ravishankar Shukla | Tieriee qeam

4. #¥ Ashok Mehta | arsite HgaT
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Question Number : 71 Question Id : 3354726401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Madhya Pradesh Irrigation Act was enactedin ____________. | we uey e srtatem _______ # et
T T oM

Correct: 1 Wrong : 0

Options :

v 1931
® 1936
® 19586
4. ® 1975

S

Question Number : 72 Question Id : 3354726402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to the World Bank, only about ______ of the total agricultural land in India was reliably irrigated in

2010. | o % AR, YRT H el FI9 I BT AT ______ &1 2010 # Tt & & &R gem am
Correct : 1 Wrong : 0

Options :

¥ 35%
® 45%
® 55%
4. ® g0%

L

Question Number : 73 Question Id : 3354726403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

As per the Constitutional Provision, how will the Panchayat Samiti Chairperson be elected? | Heremi=d W &

AR, UITId T AT @ SIedy @1 gA1d #d gI?
Correct : 1 Wrong : 0

Options :

1. #® Directly | weay
2. ¢ Indirectly | smedy

w

# As decided by the State Legislature | U9 @< Asd gRT fHafia
4. ¥ Through co-operation | GgaIT & ATEAA &

Question Number : 74 Question Id : 3354726404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which armong the following is a NON-FARM loan being granted by MP State Co-operative Bank Ltd ? | ez g
T gl i Telifies gRT =g § & @14 9T TR- 1Y 0T 0g= AT 87

Correct: 1 Wrong : 0

Options :

1. ¥ Loan for purchase of Fertilizers | Jaa! &1 @i & oy FoT
2. ¢ Educational Loan | 7w o

3. ¥ Agricultural production loan | Y JeUTE F0T

4. ® Short term crop loan | SEUTATY e 0T

Question Number : 75 Question Id : 3354726405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The process of growing two or more crops simultaneously on the same piece of land is called: | Tt @7 # gor

T ST AT SITEF Gl Sl W T B D WTwT 1 49 Fgl AT &
Options :

1. # Drip Irrigation | 120 =g

2. ¥ Mixed Cropping | T waa

3. # Share Cropping | QT A

4. # Sequence Cropping | ®iH® Haa

Question Number : 76 Question Id : 3354726406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1Fé\\_;{?hich EﬁOf the %fvollowing fruit crop is cultivated in the largest area in India? | =5 # & Tor el &1 W4T, IR # @airae
T &1 AT 3

Correct : 1 Wrong : 0

Options :

1. ¥ Guava | 3WeS
2. ® Banana | %
3. ® Apple | 99

4. ¥ Mango |

Question Number : 77 Question Id : 3354726407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following is a monthly journal of Ministry of Rural Development? | THgfei@ad & & %19 @1 gar v
T HATET & AT I 57

Correct : 1 Wrong : 0

Options :
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1. # Gram Darpan | TTH gUoT
2. ¢ Kurukshetra | @_5?33

3. ® Samvad | gag

4. ® vikas | @@

Question Number : 78 Question Id : 3354726408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the provision for funding by Central Government under Saansad Adarsh Gram Yojana ? | @9g smgs

TTH T o ST g, GURTE ZIRT Teha-T TSt HET e & WTareT= 27

Correct: 1 Wrong : 0

Options :

1. ¥ 10000 crores | 10000 #IE
2. ¥ 25000 crores | 25000 #WIE
3. # 50000 crores | 50000 FISe
4. ¢ No separate funds | ST & =TS FT BIE WAL 751 5

Question Number : 79 Question Id : 3354726409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the area targeted for Organic farming in 2016-17 under Paramparagat Krishi Vikas Yojana? | TR
¥ afaTid 2016-17 # Afw Gt & oy ATGT ST 741 57

Options :

1. ¢ 5lakh acre | 5 @G UHS
2. ¥ 4)akh acre | 4 AT UHS
3. #® 3lakh acre | 3 A UFS
4. ¥ 2 lakh acre | 2 AT UHS

Question Number : 80 Question Id : 3354726410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Under Mukhya Mantri Annapurna Yojana in Madhya Pradesh, Rice is supplied to BPL families at what rate ? |

&g HAT SIFYUI AT o STl Tlell 3T & e S # I UiRaRi @1 Fde e &8 uT [§ar ST g7

Correct: 1 Wrong : 0

Options :

1. ¥ Rs.4.50] kg
2. ® Rs3/ kg
3. ¥V Rs.2.50] kg
4 ¥ Rs.1{kg
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Section Id : 335472182
Section Number : 5

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes
Group All Questions: No

Computer Knowledge

Sub-Section Number: 1
Sub-Section Id: 335472182
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A computer that requests the resources or data from other computer is calledas ________ computer. | dg
FHIEY, ST S FHIET 9 A a1 3127 & Tl SrqRier aeare, o ____ FEATdT Bl

Correct : 1 Wrong : 0

Options :

1. ¢ client | FaBe

2. ® gerver | ®aC

3. ® operation | 3TOEIT
4. # internet | TTAT

Question Number : 82 Question Id : 3354726412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following option is used to recover files from a backup? | dFaT & BIEAl &1 Raay X & 6y
TAfeRae & & fore Toerey @1 sqaaTe Foram STmaT 27

Options :

1. ¥ Restore | REER
2. ® Scan | g4

3. ® Unerase | 35
4. ® Copy | @l

Question Number : 83 Question Id : 3354726413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Firewall isa typeof _____________. | TR __________ T U W 51T gl
Correct : 1 Wrong : 0

Options :

1. ¥ malware | ATAT

2. ¢ security system | @i faen
3. ® anti-virus | GE-amEed

4. ® office software | e GTFzaaT

Question Number : 84 Question Id : 3354726414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The brain of the computer systemisthe ____________. | TR e A ______________ ZaT 8l
Correct : 1 Wrong : 0

Options :

1. ® operating system | TRieT fFeed

2. ® power supply unit | UTeR FUATE AT

3. # information processing system | FGHIA T Eded
4. ¥ central processing unit | ¥ge TERET e

Question Number : 85 Question Id : 3354726415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which shortcut key is used to enter current date in MS Excel? | UAUS UHdd H ad AT 1q 19 ®1 &1 @i & 1l T
ATEHT T BT SHIATA (02T ATAT 57

Correct : 1 Wrong : 0

Options :

¢ Ctrl+:
® Ctrl+}
& Ctrl+{
® Ctrl+<

ol L )

Question Number : 86 Question Id : 3354726416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a valid function in MS Excel? | 790 # & a7 UAUE U @7 UF ool GFd Tl 57
Correct : 1 Wrong : 0

Options :
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1. ¥ SUM
2. ® COUNT
3. ¥ TOTAL
4. ¥ DATE

Question Number : 87 Question Id : 3354726417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following is a search engine? | 790 # & %7 U% & &9 57

Options :
1. ¢ wwrw. google.com
2. ® segrch@internet.in

&
3. # Internet Explorer | e3¢ UFaIHART

4. ® wryww gmail. com

Question Number : 88 Question Id : 3354726418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The abbreviation HTML stands for: | §4uer HTML, 497 & oy ngea g1aT &
Correct : 1 Wrong : 0

Options :

1. ® High Tech Machine Language | g8 ¢& B daet

2. ¥ Hyper Text Markup Language | g8 ¢fae Alaid wiiast
3. #¥ High Tech Master Language | g8 ¢& HTECT aliasl

4. ® Hyper Text Machine Language | 8T SHae HH el

Question Number : 89 Question Id : 3354726419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A group of 8 bits is known as
Correct : 1 Wrong : 0

Options :

1. ¢ Byte | T

2. ® Kilobyte | fratamge
3. ¥ Nibble | Raaa

4. ® Megabyte | ATTETET

Question Number : 90 Question Id : 3354726420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which one of the following statements is INCORRECT regarding Conditional Formatting in MS Excel 20077 |
TAUE Tgdd 2007 §, FEIIA BRI & darel # 0 § & #1997 7909 99 981 87

Correct: 1 Wrong : 0

Options :

1. # You can add rmore than one condition to check | 37 = & o7 UF & S118% 9 IiAe #C 9@ 51

2. ¥ You can set condition to look for Bold and apply Italics on them. | 317 Sias fo@ ot 39 W gefoigd a4 &
oy o ferfied o @@ 81

3. ® You can apply font, border and pattern formats that meets the specified conditions | g ATgge @t &1 @@
FA ¥ 6T, BT, zr@z(“ FeT U2 ATiHe e | )

4. ® You can delete any condition from Conditional Formatting dialog box, if it is not required. | ¥ smas®ar
TEar ma@wﬁﬁﬂmmﬁﬁmﬁmﬁaﬁﬁﬁﬂzmm%

Question Number : 91 Question Id : 3354726421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich one of the f0110wing shortcut keys is used to opén an existing docurmnent in MS-Word 20077 | mm‘aa:c.’
2007 ® AN STHgHe P Gled & foid T3 H & T Aicame T T SHIATA BT G IIT?

Options :

1. ¥ CTRL +5
2. ¥ CTRL +N
3. ¥ CTRL+ O

4 8 CTRL +C

Question Number : 92 Question Id : 3354726422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& computer on internet are identified by: [ §23-¢ I FHIYLT P ST ZRT TgaT=T JT &:
Correct: 1 Wrong : 0

Options :

1. ¥ IP address | el U2
2. ¥ Home address | A 029
3. # Computer location | FHIIET Ak

4. # pdmin address | USTRT U249

Question Number : 93 Question Id : 3354726423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which short cut key is used in MS-Word to Redo the last action? | TAUE a2 | aifdd #1 ®1 [ @ & foig oy aifé
T H T JULNT AT AT 57

Correct : 1 Wrong : 0

Options :
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® Ctrl+Z
® Ctrl+wW
# Ctrl+K
Y Crl+Y

e

Question Number : 94 Question Id : 3354726424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

___________ key is used to renarne file or folder. | ___________@T, BI5cT AT BIEST F1 A0 @¢ & (o7 SHAATA &l ATdT Bl
Correct: 1 Wrong : 0

Options :

1. ¥ F3
2. ® Fg
3.V F2
4. ¥ F4

Question Number : 95 Question Id : 3354726425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& durmb terminal has ajan: | U% ST A4 § HHA Z1aT 8
Correct: 1 Wrong : 0

Options :

# Embedded microprocessor | U 3id GUTiud ATgH MTaat

# Extensive memory | U@ac ied HAKT

# Independent processing capability | SSET WETET duidieer
. ¢ Keyboard and a screen | #iale T T Trid

ol L I o

Question Number : 96 Question Id : 3354726426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
To select several cells or ranges that are not touching each other, what would you do while selecting in MS

Excel 20077 | UATE UFde 2007 #, I sMd Q@ AT T BT deicpe e & o, ST Tor U ae o quek § 51 §, 70 a1 der?
Options :

1. ¥ Hold dowm the Ctrl key | Ctrl §iT &1 gad TEM

2. ® Hold down the Shift key | Shift it @1 gamg &M

3. # Hold down the Alt key | Alt Fit BT ey TEM

4. ® Hold down Ctrl + Shift key | Ctrl + Shift Fit T ey T&M

Question Number : 97 Question Id : 3354726427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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You must install ______ on a network if you want to share a broadband Internet connection. | iE o Aieds

TTXAT TAP AT T BAT TR 5, 91 STHRT Tl eaer U ______ EHCTel AT 51T
Correct: 1 Wrong : 0

Options :

1. ¢ router | 7T
2. ® modem | #izH
3. ® node | FIE

4. ® cable | ¥

Question Number : 98 Question Id : 3354726428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What do you need for an inkjet printer? | T Uk gavie el & o] 50 o Fepeh! smasaerar grir?
Correct : 1 Wrong : 0

Options :

1. ¥ 4 cartridge | U% FTiew

2. % Adrum | UFEH

#® A ribbon | UF faq

4. ¥ None of these | 90 & ®I1E 51

w

Question Number : 99 Question Id : 3354726429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following options in M5 Excel 2007 is available in Data tab? | FacEd # & #19 @7 9wy TAUT gaad
2007 # TR ea H IuAH BT 37

Correct : 1 Wrong : 0

Options :

#® Tables | Taeq

® Links | feag

« Sort & Filter | G1¢ 3T et
# Charts | agd

o S L I

Question Number : 100 Question Id : 3354726430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Who is the ‘Father of Computer'? | ‘FHIILT & JF B 57

Options :
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1. ¥ Augusta Adaming | ST GSTET
2. ¥ Edward Robert | U=dg Tae
3. ¢ Charles Babbage | ITdd de

4. % allen Turing | e =i
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